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PART - A
CHOOSE THE CORRECT ANSWER (10X1=10)
1. The complementary function of the equation (D* —4D +13)y =0 is------ ;
a) e " (A4cos3x + Bsin3x) b) e**(A4cos3x + Bsin3x)
¢) e**(Acos3x — Bsin3x) d) e
2. The particular integral of (D?® +16)y = cos4x ig------ :
a) -}sin 4x b) %cos 4x c) X sindx d) X cosx
—at
3. L™) i5 equal t0-ommv.
1 1 1 1
a) b) c) — @) =
s—a S+a 5 s
4. L(sinhar) ;o equal to ------- :
2a s a
s* —a b) s‘—a’ ¢) s* +a? dyend
st —q?
-1
5. L (coshat) ; equal to --—--- : :
s a s a
a b g d
)s2—a2 )s2+a2 )sz—az )sz—a'
6. (T=a)s s equal to -------
9 e” b) te & c) fe T d) e ™
7. The Fourier series for the function f(x)=k, 0 <x <27 then the constant ag is equal to------
a)2k b) 3k c) 2k-1 d)o0
8. The Fourier series expansion of f(x)=x’in — 7 < x < 7 then the value of a, is equal to------.
a) -1 b2 )0 d) -4
9. The half range sine series in (0, 7) is-----.
a) fi(x)= ——Z b, sinnx b)afi(e)= z b, sin nx
n=1 n=1
c) f(x)=Zan sin nx d) f(x)=sinnx
n=l
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10. The half range sine series f(x) = xin (0, 7) then b, is equal to-----.

e b) 2(-1y ey
n > :
PART -B
ANSWER ALL THE QUESTIONS
11. a) Solve: (D? -3D—-4)y=e* +¢7* :
(OR)
b)Solve: (D* +2D+ 2)y =sinh x
12. a) Find L(sin’ cos’ £)
(OR)
b)Find £(c0s" 7).
-1[5S2 —-15s -1 1:|
13.9)Find  LO+DG6=2 |
(OR)

2 Lo ! o
b) Solve (D" +D)y=t +2twhere y(0) =4,y (O)"‘Z,

d)

S [N

(5X7=35)

14. a) Express f(x) = (7 — x)*as a Fourier series of period 27 in the interval 0 <x <27 .

(OR)
b) Expand (27 = %) a5 3 Fourier series in (0:27)

15. a) Obtain the Fourier expansion of xsin x as a cosine series in 0,7).

(OR)

x in 0<x<Z
b) Find a cosine series for the function f(x) = 2

T—X Iin —2—Sx<7r

PART - C
ANSWER ANY THREE QUESTIONS

16. Solve: (D* +9)y=(x" + Deax.
17. Find the Laplace transform of (i) #2e™ (i) e™ (3sinh¢ — 5cosh 20).:

diySu=dy : dy
18. Solve —= +4 = — 5y = 5given that =0,— =2 when t-=0.
dt? Al i dt

19. Find a Fourier series to represent x — x2 in the interval 0,27) .

2
0<x<u, x(,,_x)zz__(colsfx +co;#co}sfx )

20. Show that in 6

(3X10=30)
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